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Question 1

Question Type: MultipleChoice

You created an internal requisition to move material between two organizations. The destination is locator controlled. The shipping
network between these two locations has been defined as Direct. The shipment transaction fails.

What could be the reason for the failure?

Options:

A) Locator default has not been set up In the transaction default.
B) Internal requisitions cannot be used for Direct shipping networks.
C) You did not indicate the locator of the destination on the requisition.

D) Locator-controlled destinations cannot be used for Direct shipping networks.

Answer:

A
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